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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I', "lopt'], ['T", "Topt'], ['RH’, 'RHopt'], ['ETcl’, 'optETcl'], 'LAI', 'optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12

BfiE) | FEBIETK (D) | E=E (EH/E) | XK R

08:45 176 90.0 Be| ThiHHe08:45 RHEFEF (KFAEZRE)
09:45 176 90.0 Bg| TMHA@09:45 KRENFEF (KRAEEES)
10:55 176 90.0 R5| TiHAe10:55 KRHERF (RAEHS)
12:05 176 90.0 Be| TiHfe12:05 REEF (KAERE)
13:10 176 90.0 Ag| THRe13:10 KENFEF (RAEEES)
14:20 176 90.0 R5| TiHAe14:20 KRHEF (RAEHES)
15:45 176 90.0 Be| ThiHfe15:45 REEF (KBAERE)
2i9t]1232.0 (70%) 630. 0 2 HKEC: 2080.0, PH: 6.0

REREBIEC (2565.0) H5iZEEC (2000.0) REI K, HRE




FRV (ml plant-1)
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P3-12_0, Day=34 (2025-05-06)
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P3-12_0, Day=33 (2025-05-05)
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23t]1750.0 (70%) 700.0 3ZHKEC: 2080.0, PH: 5.8
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large discrepency for begining water status (70:216.0), set to 70 ml.
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